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(D(3) + D(5)) - T(4) + D(6) - T(6) BUN D(4)-T(4): PC«< AR
FAHYALUIL |R-T(1): M[AR] < PC BSA D(5)-T(5): PC < AR
STA D(3)-T(4): MI[AR] < AC AR 40 :
BSA DG5)-T4): MIAR] < PC | ,pip-R-(T(0)+T(2)+D7) I-TQ3)
ISZ D(6)-T(6): MI[AR] < DR oo | R T(0): T
IRADGIM#E : IR LD = R-T(1) JTIFIR-TQ2): AR < IR(11:0)
WSITvF |R-T(1): IR < M[AR] Mg | ——
- ez | D) -1-T(3): AR < M[AR]
DRA 1 &1 :

DRLD = (D(0) + D(1) + D@) + D(6)) - T(#) 1w 3 14 - OUTR LD — ). 0P2(10)
AND ORI DR < MIAR| OUT | p-0P2(10): OUTR « AC(7:0)
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AND D(0)-T(4): DR < M[AR]
ADD | D(1):T(4): DR < M[AR]
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STA
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p-0P2(10): OUTR « AC(7:0)

ISZ

D(6)-T(6): M[AR] < DR

IMK

p-0P2(5):  IMSK « AC(1:0)
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IRLD=R-T(1) AFH ey /Hjjj 7\
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ARLD =R-(T(0)+T(2))+D(7)-1-T(3) AR 1
OUTR_LD = p - OP2(10)
IMSK_LD = p - OP2(5) PC 2

NAHAHEES
bus AR = D(4) - T(4) + D(5) - T(5) > DR 3
bus PC=R-T(1) + R-T(0) + D(5) - T(4)
bus_DR = D(6) - T(6) Ij_ L l_ﬁl AC 4
bus AC=D(3)-T(4) +p - (0P2(10) + 0P2(5)) E
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bus. MEM =R -T(1) + D(7) - I - T(3)

+(D(0) + D(1) + D(2) + D(6)) - T(4)

;1?5(0) = bus_DR + bus_IR (+bus_AR + bus_MEM)'E 1 INPR OUTR k BS (2:0)

55— bus A+ s 1+ bus | ‘O MSSIE IMSK |
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